

Formal Trigonometry Homework 1
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5.	(a)	Solve the equation  for.
	(b)	The diagram below shows parts of the graph of two cosine functions, h and k.
		State expressions for h(x) and k(x).
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	(c)	Use your answers to part (a) to find the coordinates of P and Q.


	(d)	Hence state the values of x in the interval  for which.
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(b) SIS + xPcos(d - X + cos(d5 + XFsinds - xf

3. 0<P<3. find the exact value of cos2P.

Solve:

(@) 2sind-v3=0, 0s6s2n
(b) 3822+ 2eox =0, 0x5360
(©) cos20-sing = 0, 056521

Prove that tanA + tanp = S0A+5)

cosAcosB
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For the diagram opposite, show that
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